Oy (2)

(mod 2)
blocks | defect | matrix
2.G: 1 13 81 x 15
2 1 2x1




Block 1: | o1 w2 w3 w1 w5 Y6 P71 Ps P9 Pl0 P11 P12 P13 P14 Pis
11 = X1 1 .
281 = X2 2 . 1
351 = X3 1 1 . 1
352 = X4 1 1 . 1
353 = X5 1 . . 1 1
501 = X6 . 1 1 1 1 .
8, =x7| 2 1 . 11 .
84y = x5 | 2 1 .1 1.
843 = X9 2 1 1 . . 1
1751 = X10 ) . . . 1 1 1 1 .
2101 = X11 1 1 1 1 1 .
2102 = x12 1 1 1 1 1 .
2103 =y1i3| . 1 1 1 1 1 )
3001 = X14 2 . . . 2 1
3501 = X15 2 1 1 1 3 . . . 1
5251 = X16 7 1 1 1 4 1 1 1 . 1
5671 = X17 3 2 1 1 3 1 . 1 . 1
5672 = X18 3 1 2 1 3 1 . 1 . 1
5673 = X19 3 1 1 2 3 . . 1 . . 1 1
7001 = X20 2 2 2 2 1 1 1 1 1 1 1 .
7002 = x21 6 1 2 2 4 1 1 1 1 . 1
7003 = X22 6 2 1 2 4 1 1 1 1 . 1
7004 =x23| 6 2 2 1 4 1 1 1 . 1 1
8401 =x24| 4 2 2 2 3 1 1 1 . 1 1 1
840 =x25| 4 2 2 2 3 1 1 1 1 . 1 1
8405 =26 | 4 2 2 2 3 1 1 1 1 1 1
9721 =xo7 | 2 2 2 2 2 1 1 1 1 1 1 1
1050 =x28| 4 3 3 3 4 1 1 1 1 1 1 1
10502 =x20| 4 3 3 3 4 1 1 1 1 1 1 1
10503 =x3| 4 3 3 3 4 1 1 1 1 1 1 1 .
1344 =y31 | 2 2 2 2 4 1 ) 11 .
13445 = x32 2 2 2 2 4 1 . 1 1 .
13445 =x33 | 2 2 2 2 4 . . . . .11 1
1400y =x34| 6 4 4 4 7 1 1 1 1 1 1 2 .
15751 =x35s| 7 3 2 2 5 2 1 1 1 . 1 1 .
1575y =x3¢ | 7 2 3 2 5 1 2 1 1 . 1 1 .
15755 =x37 | 7 2 2 3 5 1 1 2 . .11 . 1
2100 =yss | 4 5 4 4 5 2 1 1 2 1 1 1 1 .
21000 =x39| 4 4 5 4 5 1 2 1 1 2 1 1 1 .
21003 =x40| 4 4 4 5 5 1 1 2 1 1 2 1 1



(Block 1:) | o1 w2 @3 @1 95 ¥6 7 s P13
22401 =xx1 | 2 6 4 4 4 2 1 1 1 2 2 1 1
2240, =x42| 2 4 6 4 4 1 2 1 2 1 2 1
22403 =x43| 2 4 4 6 4 1 1 2 2 2 1 1 .
22681 =x44| 8 S5 4 4 8 2 1 1 1 1 1 2 1
22680 =x45| 8 4 5 4 8 1 2 1 1 1 1 2
22683 =x46| 8 4 4 5 8 1 1 2 1 1 1 2
2835, =x47| 7 4 5 5 7 1 2 2 1 1 1 1 .
28352 = X48 7 5 4 5 7 2 1 2 1 1 1 1 1 .
28353 = Y49 5 5 4 7 2 2 1 1 1 1 1 1 1
3200, = Y50 4 4 4 8 2 2 2 . . 111
42001 = 52 6 6 6 11 3 3 3 1 1 1 2 1 1
60751 = Xs3 11 11 11 17 4 4 4 4 1 1

81 = X54 1 .
561 = X55 1 1

1121 = X56 1 .

1601 = x57 1

2241 = X8 1

2242 = X59 . 1

4001 = X60 1 1

4481 = X61 6 . 2 1 .

5601 = X62 2 . 1

6721 = X63 2 2 1

6722 = Xe64 2 1 .

8404 = X65 . 1 . . 1 1
10081 = Xe66 8 2 2 6 1
10082 = X67 4 1 2 . 2 1
10083 =x6s | 4 1 .2 2 1 . .
12961 =x69 | 6 3 2 2 6 1 . . 1 1
14000 =x70| 2 5 4 4 4 1 1 1 1 .
14003 =x71 | 2 3 2 2 4 1 . .1 1 1
24000 =x72 |10 6 6 6 10 2 2 2 2 3 .
2800 =x3| 6 7 6 6 6 3 2 2 3 1 1
2800 =y | 6 5 4 4 6 2 2 1 1 11
28003 =y75| 6 5 4 4 6 2 1 2 1 2 1 1
32401 =xw |10 7 6 6 10 3 2 2 2 2 3 1
3360 =x77 |10 4 4 4 8 2 2 2 1 . . 1 1
35841 =xws| 4 6 8 6 8 1 2 1 2 2 2 2
3584y =xv9| 4 6 6 8 8 1 1 2 2 2 2 2
42000 =ys1 |18 7 8 8 14 3 4 4 1 2 2 3 . 1
45361 =xs2 |12 7 8 8 12 2 3 3 1 2 2 2 1




(Block 1:) | o1 @2 w3 @04 @5 @6 P71 P8 Y9 Y0 P11 P12 P13 P14 P15

5600, = xg3 | 20 10 10 10 18 4 4 4 2 2 2 4 1 1 1

1 = 1 0o = 160,
P2 = 8 _

- 8 p10 = 1602
Y3 = 2 — 160
o1 = 83 i = 3

o 26 P12 = 2461
Y5 = 1 _

= 48 Y13 = 7841
Ye = 1 _

o Y14 = 7842
TR P15 = T84
g = 483
Block 2: P16
40961 = x51 1 p1e = 40964

40963 = xs0 | 1




